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4, A} & A3

4.1 A8 W

1) = 35279 AAH, 78, ¢Fu)H)E AXsta, A do], = HkAS 33 =Aste] FHFgS Fekth
2) M 5 AFo] 27 s, Lgx AFe] FHI| A AEHES st F715 Lopdrt

4.2 A8 A3 A

D 2Ae] Zo] =4
SA4sl F9 F7 | A dol(Dimm) | F2 WA ) (mm) | A& Aell)(mm) (I, =1+7)
F1 = 110 22.5 132.5
F2 A 166.35 22.5 188.85
1
3 77 166.35 22.5 188.85
4 AT 185.35 22.5 207.85
2) A& AAG elshakle o
5=
i FA(T= 1/ TSR s
B5o) AA SAA) ) T, -7
- (N =59 95 (9= 47°l,/ T?) <—2 100
Sl g
F1 | F2 | F3 | F4 | F1 | F2 | F3 | 4| F1 | F2 | F3)| F4| F1 | F2 | F3 | 4
103) || 7.32 | 842 |[833 |8.90
303] | 22.25 | 25.99 | 26.69 | 27.12
503] | 37.68 | 43.24 | 44.02 | 46.66
3) MES FH3] AAGe o) IS
5=
o F7UT=t/N) THIEE A
Y AA SAAZH) ) ) - 9—9
= (N: 259 8%) (g=4n"l,/ T7) I 9 %100
sl g
F1L | F2 | F3 | F4 | F1 | F2 | F3| F4|FL | F2 | F3|F4| F1L | F2 | F3 | F4
108] | 7.15 | 795 |8.09 |8.25
303] | 22.25 | 27.53 | 28.01 | 30.00
503] | 37.83 | 41.12 | 46.13 | 47.72
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